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I 10 mwn: 13 is believed when he says that the oy was already shown to — and confirmed by — a nnmn
a  27(quoted by 71 37-K81772019 version): 103 is believed when he says that a Y870’ gave him this 7132 with its on
i Reason: people don't lie about matters that could be confirmed
ii ~ Support (?wK 37): our mwn — is this not the reasoning?
1 Rejection: in that case, it is because he won’t eat yyna wTp >we believe him that he already showed it
2 But:in 17's case, he is still suspect of making the D and claiming that it came from 5%7w> that way
iii ~ Challenge (sarw "): if someone asks a non-credible (re: 7wyn) person to buy from 9wyn or jnR1 — not believed
1 Point: even though it could be discovered, he may lie
(a) Rejection: in that case, he could get out of it by claiming that he thought the fellow was jnx1
2 furthermore: R90 supports 11 — if the dispatcher send agent to a specified person — jnR)
(a) Rejection: in that case, the dispatcher will sue him for the money — so he’s extra careful
b 27(per p7 71— version taught in X710): YR is believed to tell us that he gave the M1 to the 103 with its on
i justification: even if it was given when the animal was young and now it was older - still believed
¢ Story: D197, in RN*7IMY, gave 731 to 113 w/o DIn; 113 deliberately made a o, waited for day when p197's eyes were
weak and brought it to him; n397 recognized it and prohibited use — yet he didn’t invalidate other n»n>
d  Case: y1v (one big eye) brought to »wx "3 with its ¥R’ owner; declared it i (as we would believe 103 or YR7?)
i Challenge (¥2227): nmi 11 ruled that we may not investigate oy w/o presence of 112
ii  Defense: that is because we suspect the Y87 of n%13; here, he has 7123 for DN (to ask about 1% D) — not TIVN
II  2n mwn: all are believed about 7wyn 'mn
a  Reason: he could have made a o before counting
i Challenge: how could he know which will be #10?
ii ~ Proposal: he could place this one at that position
1 Rejection: 9p2> ®Y (v. 1) tells us that he can’t distinguish between them
2 Rather: he could have made a n1n on the entire flock before counting
II 30 mwn: permitting "%2w pmn
a If:amaisblinded, has an arm removed or a broken leg — may be permitted by 3 non-experts
i Dissent: o1 1 —even with a 721 of 23 — still require a nnnmM
b N0 (from572>7 or AKWI 77177 77): 122 NINN in "N may be done by 3 regular citizens
i Challenge: already taught in our mwn
ii  Defense: from mwn, we would have thought it applies even to ambiguous pnn; reason the nwn picked overt
PPN was to demonstrate the strength of o1 *1’s position — 9"np
¢ Nmn(from either 370r 5810®): 3 may effect 1122 nann where there is no nnmn available (Xa7: only Ppnam Pon)
i justification: from mwn, we would have thought even if nnmn was available — Y"np only if no nnmn around
d  ~mp(08Y 92 71 77): 3 are nn a M1 where there is no nnmn (contra *ov ")
i And:3 are 71 nn where there is no nan (contra N "1, who always requires nan)
ii ~ Note: 1" is an example of on for DM NN
iii Note: according to N '3, 1 must be nan; other 2 must also understand the system (not just “warm bodies”)
e 27 we rule against *ov "1 — even though yy 19, it is T vs. 0227 = 02293 N2Yn
i Note: perhaps that means that 1%t Xn'n (above) is from YRnw; else why would 21 say same thing twice?
ii ~ Answer: one is the result of the other ("o 13 N2%1 PR > any 3 may be 7121 nn...)
IV 1 mwn: reparations for sale and consumption of unfit foods
a  if: someone sells M2a-meat and then is discovered, he must pay them the entire amount; rest is buried
b  similarly: if someone sold meat and it proved to be nav; what ever they didn’t eat is returned to owner
i and: if they sold it to non-Jews or fed to dogs, he pays them the difference (value of 1910 from Jw3)
¢ 571z if someone sells meat that proves to be 1123; fruit that proves to be 0520 or wine that is 3
i p’m he must make full reparation
ii ~ &7aw7 only if it is disgusting (e.g. 0¥pw); if not (e.g. 1) — return difference
1 challenge: in case of 1123, buyer cost seller nothing
2 answer: could be case where he bought (and ate) spot where oy was >deprived him of chance to show it
3 and: for M9, he could have taken n"1n; in ", could have mixed with proper wine and sold it per 32w
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